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1. For the circuit shown below, find the Thévenin equivalent circuit. (20%)
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3. Evaluate the impedance and admittance of a 25 mH inductor when =800 rad/s. Also
find the voltage, v(t), at the two terminals of the inductor when the current through the
inductor is given as i{t)=4 cos(800t — 50°). {20%)

4. For the circuit shown below, the impedance of the AC voltage source is Z=R+jX;. The
impedance of the load is Z=R+jX. The frequency of the AC source is w rad/s. Express
the real power P in terms of the fixed RMS source voltage, V, and impedances of the
voltage source and the load. (10%)
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5. The circuit shown below is the frequency domain model for the output of an ampiifier
operating at ®=10°. The load has a fixed resistance of 500 Q. Identify the load
reactance X and the transformer’s turn ratio N to achieve the maximum power transfer.
Assume that the transformer is an ideal transformer. (20%)
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6. For the circuit shown below, calculate the power factor. (10%)
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